— FHHE R B IR R

MM’ MDS 200A

S-M&
o = [rAnifE i "
® {if IE 1] & [ I 1 1 I o
® %l E 2500V ~ 1 1 o
&8
50 ,a,dc‘}%
O 1
. I @ | lg| |
\) N ) ) N N N 0 o — 1| [ | m r\‘
o (B AW HILEIR ?77¢% &
o P HZB it B3 LR bt ] 4
o 7 EHL I |
2.5 5.5
34
+ - 50
a4
B AfE
¥ el
e 4 i
MDS200 -12 MDS200 -16 2
Vi RaE GGk 1200 1600 \i
Visy REAELEE SRR 1300 1700 i
%5 534K XA B By
I, =Rk R AR BB T 100C 200 A
L 1F 18] IR LI t=10ms, 50HZ, sin, T jm 2100 A
I't 't 4 V, = 0.6V, Tim 22100 A'S
Viso Yotk R — 4 2500 vV
Tj TiELE -40 to +150 C
Tjm BELER 150 C
Tstg T RE -40 to +125 C
" RHENIE (FER) M5 4 N-m
BHENE (EE3E) M6 6 N-m
W, EE 430 g
[ N
%5 54K XA B Boy
L SR B A G W V=V, £, Tj=150C 15 mA
Vi g R I, =2004, Tj=25C 1.35 i
Rth (j—c) B (£-%) BEH A, iR 0.1 C/V




ASEMI

— FHHE R B IR R
MDS 200A

& O AR R T 2
it 3.5 /
A 3 — Tj=150°C /
. /
K 2.5
V)
2 ///
/|
1.5 / v
1 —
0.5
10 100 1000
THAEEBER (A)
B BRINRE 51 I 7 i
?< 700
% BH
= 600
) //
¥E 500
W /
) 400 /
300 //
200 7
100 //
0 /
0 50 100 150 200 250
WA BT (A)
b S L 95 L P Sy .
e TH ARV RS A e R i 2k
0N 2_2 - .
i)
i \
)
i 1.8 \
(K \
A) N
1.4 \
N
N
\\
1 \\\
\\\\
0.6 [T
1 10 100
JHP A @S50Hz
%2

b=
=

(773
#H
FH
it
(C
W)

o3
&

W& EE o

~
~' N
@]

g 2 e ABIL T

0.12
AT
Pl
0.09 7
b
M
’
v
0.06 /
. //
A
1
0.03 A
g
-"/
-—"'#_‘
_—
0
0. 001 0.01 0.1 1 10
E] (s)
BT S AT IR O R 2k
160 — - —_— =
140 \\\
120 \\
100

80 \
N

60 N
D

40
20
0 50 100 150 200 250 300
AT (A)
Pt R 2
25
//
20

10 ,/

] (ms)



